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(i 88
Time Allowed : 3.00 Hours | [ Maximum Marks : 90

sflayenrast ¢ (1) o@ansgy damsa@nd eflurs udlairdl 2 GreTHm Tz eflunisg)s
Qamereraih. EstLfaiD Gepulmide, 2iens sersmantiuremfliD
o Lanqurss Qsfelsseayb.
(2) Boob swegy sEUY owvdea oLECL FRHUSHGD
2l 58aTy QaghEd Luaupss CauenBn. ULREsd wuDIUFDE
Quendled LwsTUREFLD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

U@ - 1/ PART -1

Sjenengs) HamEsHEnsGD aflen_wafl&&aylb. 20x1=20

@y ¢ (i
i) Qar@asuul@erar wipm eflasefld Wasb ghyeLw efeLemus
CoibAs0s86 GO s wiaanyb Csibg erupseyb.
Note: (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer,
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1. @pdurailen gpadmpraug Quilu sieuCss elwrar Hevawwnors  eflwrer
Bepawnd mﬁ]maiu@.lﬂg@.
(=) Qecmenen (<24) aptbenLs (@) Quiss@sm () Sl
The third largest international airport in India is _ ;
{(a) Chennai (b)  Mumbai (c) Bengaluru  (d) Delhi

2. ¢® Powegden o daf e, Cleusfluisenég GeoL G = erer @uiduran Qg :

(<=1) Caflliy amivy (<2,) BIsia) sy

(@) wsdpa sriy () emusds smiy

The functional relationship between “inputs” and “outputs” is called as :
(a) Savings function (b) Consumption function

(] Investment function (d) Production function

3. amLBdrs AL ks Qewdn IRSEUULL. @6
(1) 2000 -2001 () 1989- 1991 (@) 1981-1983 (m) 1990 - 1992
Annual Plans formed in the vear :
(a) 2000-2001 (b) 1989-1991 (c) 1981-1983 (d) 1990 - 1992

4. gf gaE abzans 2 husd Dalausne <uEh Crwey :

(<=1) Gufflow Gsoa (<) wryid Qeway

(@) Qurss Qsway (m) wipr Gueey

The cost incurred by producing one more unit of outputis _ cost,
(a) marginal (b) variable

e] total (d) fixed

5. sllpprigd Briursergdlean apadiu sy gmib
(1) Aoy (=) 2o (&) ardoumiy () @emd
The main source of irrigation in Tamil Nadu is ;

(a) well (b) river [c) canals (d}] tank



Gaenar QApADFE Gamde swors Gmoug
(@) appidland pdipadlupp Ggeneu

(o) sieviEd Gaee Qpdlipad)

(@) Vs Gaeau

(r) wpilan Cpdipsflydang

Elasticity of demand is equal to one indicates :
(a) Perfectly Inclastic Demand

(b} Unitary Elastic Demand

{¢) Relatively Elastic Demand

(d) Perfectly Elastic Demand

AFE R I f N — menuser gl AsWHUTE G,
(=) s@HE S@@a (<) Gaumur®

®) auwsdh (/) s@enal

[ntegration is the reverse process of ;

(a) Amalgamation (b) Difference

(c) Differentiation (d) Mixing

Endsarn_apmdr oz whpfiawt Cumnyuier Gudy ?

(=) uer Gaugun(®

(es,) @p(m ellpuenamLTari

(@) edGer mamPL PiyUNE) () fa shumenurariger

Which of the following is a feature of monopolistic competition ?

(a) Product differentiation {b) One seller

{c) No entry (d) Few sellers

Eipssan_aupper a5 (parGappb S@Lbs HriH 2
(21) Gyremen (@) Go&fiCer  (G) Whakisr
Which one of the following is a developed Nation ?

(a) France (b Mexico [c} Sri Lanka

(rF)  @meamr

(d)

Ghana
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10,

11.

12,

13.

BQoAfeal uudaurd W wwons @magn durps Curgsl uwdurG
o AmEED.

(=) ygBuors () mopauns (@) erdiwapurs (F) o.FF00E

When marginal utility reaches zero, the total utility will be :

la)  Zero (b)  Minimum (c) Negative (d) Maximum

@f epusdurart liubsshlar apeid e eipriurell sar Uellow aPEALSHSTS
Qsrda@n Quris uerGo selun@h” - Qe smilwed wrd ?
(=) ardaf (<) Quenapmrd (@) J.S. B (F) wrragd

“Wages as a sum of money are paid under contract by an employer to a worker for
services rendered” - Who said this ?

(a) Walker (b) Benham (e) J.8. Mil (d) Marshall

“wafllzgeru arpsmsfar sdapre pLagsmssoad upp Qurmaiud

< rmudlpg” aanm sablucud 7

(=1) el wrieage (=) gL tb eoidls
(@) srgplaudadn (m) Beweare Fmensh

“Economics is a study of mankind in the ordinary business of life” - It is the
statement of : '

(a) Alfred Marshall (b) Adam Smith

{c) Samuelson (d) Lionel Robbins

Eidwraild earsd sLEIE® SMTEMLTES SHEILBS) :

(1) afls 2 pusd (<) gripeno

(@) apppCasca flena (r) @ifls wésar Agrens
Identify the cause for rural indebtedness in India.

(&) High Productivily (b) Poverty

(c) Full Employment (d) High Population



5

14. @russanil wep wsa wadd @figpaiu@isiuce G :

15.

16.

EN AT (<=21,) Gsramm (@) wargreglgrd () AURAISTETLD
Rvolwari system was initially introduced in !

{a) Tamil Nadu (b) Kerala (c) Maharashtra (d) Bengal

SRSy CTETLS) ©

(=) flanaser & Baiylgeng HID GG,

() Qummersd @B bag L Hib Gi&ELD.

(@) puiser CprigwraGeur sieang weppsLTEEaT CUTmETSET aumhEL
@b wepewd GHlsEn.

() Qurmase alpGHLms Wl B> GHEGD.

A market is :

(a) Only a place where prices adjust

(b} Only a place to buy things

[c) A system where persons buy and sell goods directly or indirectly

(d) Only a place to sell things

uen_fiFar wpph veilsdr aufl eremug) :

(@) wliyssm L ool awfl Gurdpg

(<) U qpewar euf!

(@) vogear aifl LpD SBES ellomasst DD
(7) D550 coenasmars CsTan g

Goods and Services Tax is

(a) like value added tax

(b} a multi point tax

(c) a single point tax with no cascading effects

(d) having cascading effects

[ fgpliys { Turn over
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17.

18.

19,

20.

srrsfl Wesosydsnar eumilLrG)

(1) TVC/Q (<3,) AVC/Q (@) AFC/Q (F) TC/Q
Identify the formula of estimating average cost.

(@) TVC/Q (b)  AVC/Q () AFC/Q (d) TC/Q
ApOyt QumgerrsTy nam_evd Qamearans & QaueflufL OuC LS.

(1) FUr® 2001 (a) griipe 2000 (@) gOae 2001 (7) ggOene 2000

The Special Economic Zones Policy was anpounced in __ .

(a) April-2001 (b April-2000 (¢) July-2001 (d) July-2000

EndL sra o Husds sy s dpab sfuiu@éps ?

(=) 50 sema) 2 pusHE Car® (<o) 8s ey dlmerey e

(@) Czemau eild) () wryb 985 <erey efemenay el
The short-run production function is studied through :

(a) Iso-quants {b] The Laws of Returns to Scale

(¢) Law of Demand (d) The Law of Variable Propartions
Ameven@nauilen QUImETTHITS SHSSST GHUUTE spiaug) :

(1) oumenwn EPSTWSSE Fruib

(<2p) Gaugmmaimantn

(@) Qadeud

(F) Cuhaa Smeanhgb

Thiruvalluvar Economic ideas mainly dealt with :
(a) Poverty is the curse in the Socicty

(b) Agriculture

{c) Wealth

(d) All of the above
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u@d) - 11 / PART - II

@iy semaGueann G e daganam 6flent 1efldama)n. enr ereaim 30 -&&
SLLmwuons clenlwiallssa)ib. 7x2=14

Note :  Answer any seven questions. (). No, 30 is Compulsary.

21. CwWEUT g & QUEna & ameTs .

Name the types of utility,

22. USETLRIE®E e@sUUDESS,

Mention the classification of Goods.

23, enusdls erileens @HUAGS.

State the Production Function.

24. Qaueflyn GFoa) — cuE@UISEFaD.

Explicit Cost - Define.

25. Uéliay erempmed eraman 7

What is meant by distribution ?

26. G@OHE ST LTS srpanisarrs VKRV, 7ré speumst Ulliguial (s,

List out the reasons for low Per capita income as given by V.K.R.V. Rao.

27, easl Qurmermgmyn — euanu IMI%EQLD.

Define Rural Economy.

[ flgsliys [ Turn over
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28, sulbprlPEGapm mren, o aney’s Liftsenend @lldHs.

Mention any four food crops which are favourable to Tamil Nadu.

29. Blapajl Guniiqulen @enfliueiowng uasanLid @GEEEG5.

Point out the essential features of Perfect Competition,

30. uerflggner (Worksheet) crépred cremen ?

What is meant by warksheet ?

gl - 1 / PART - III
senauCuenih aup dleméserse cloLwelssaybn. e aar 40 -&&
slLmuwre edlalwelgsayb, 7x3=21
Answer any seven questions. Q. No. 40 is Compulsory.

@iy

Note :

31. wails elEluhisale FLDaOUS SmDis.
Describe the features of Human wants.
32. Ggmple wpenenGeuntlen Liesflger wrene ?

What are the functions of entrepreneur ?

33, Cauarremaniols GUmEBeTmSMLD umfl bGussflar Aurmarrgnysd SMHSgIsmaTs

&
State Ambedkar’s economic ideas on agricultural ecanomy.

34. cafls awidsed CadluwubrEsiuLLghaTar Enremtisenend @oILGHa.
State the reasons for nationalization of commercial banks.

35. o @aLIILOTSH GTenHTd) eraem 7

What is meant by Globalization ?
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36, @iy eans aumd (RRB) uidl @bioy aesrs,

Write a note on Regional Rural Banks (RRB).

37. &&renrg gl BB g durmarrsry eweddpenen ailardeEs.

Describe the performance of Tamil Nadu economy in health.

38. TR=50Q-4Q? ean syl Qerang). Q=3 erefld), Gmd oo cupeurenud sams.

Given TR=50Q—4Q2. Find the marginal revenuec when Q=3.

39. Qurmaludiar = dfasmms sl swppe gCaab gafloan upil
efleuflEsayib.

Name the Subdivisions of economics and explain any onc of them,

40. syrafl Qeasdi@ (AC) @méHlema ewalesn (MC) edrer CgTLTLSmar o (pgiE.

State the relationship between AC and MC.

u@dl - IV [ PART - IV
@I : Siemengg) aflenés@héE .0 eBlen_wiafllésey L. Tx5=35

Note : Answer all the questions.

41. (=) Qurmeluaels updlu vbGuy Gobsarmassma Ul H Counu@Bsas.
S|
() SODET Ig@eTer UDGa aiaawnal S hmd aemhisaner afleuflssa L.

(a) Compare and contrast various definitions of Economics.

OR

(b) Explain the various sources of energy in Tamil Nadu.

[ Slptigs / Turn over
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42,

45.

(<) @eophg Qadh @mdfenals vwenum’ G el arenyULggien elauflasajd.

SIVE0EI
(<) 2015-2020 -gib yargparan gHmod Aps@wds Qg maren
fpududuysemer eferd@s.

04 e

(a)  Elcidate the Law of diminishing marginal utility with a diagram.
OR
(b) Desecribe the salient features of EXIM Policy (2015-2020].

(=) 985 erey efenaray ellflan 2 ryaRTGSL e GHleTHGS.
S
(<1,) epal Qunmernsnyy ArEslenaTsman <z jmils.
{(a) Elucidate the Laws of Returns to Scale with example.
OR

(b) Examine the problems of Rural Economy.

() uOCaupulL daoaflaasaid AR wHpD MR Garpa@anss el Guwmen
Qgrifrepy alland@s.
TN
() HETCaurs aEsid e EHSMS TULESEIL G el
(a) Bring oul the relationship between AR and MR curves under various price

conditions.
OR

(h) Explain the theory of ‘Consumer’s surplus’ with the help of a diagram.

(<) 'ﬂmmma Gurligulld ereueumn eilenw PO 2 HUSH eray Siwraflss
u®hEma 7
2]60605)
(<2p,) SADBT g CUNGEEI0 Curdgeurss papeanil sflaTd@s.
(a) How price and output arc determined under the perfect competition ?
OR

(b) Explain the public transport system in Tamil Nadu.
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() @BEWC Quingsar g ma .- s
a6. ( ANEN 7 Gl ugpiaitar g tisaner aflaifléamab,
ALV
o) Bmg Renar © mus R B i) ~u .
(%) BOAROD & SUEHG At Ldliari Ganunten. T

(a) Explain the strong features of Indian Economy.

OR

(b)  Explain the Marginal Productivity theory of distribution.

47. (1) Gummarngy paGappsdo Ay Qariflé Hm e eih&etén L flenan
silaufl&seyb.
S{EVEOG
(<) Qurmaiiug geopule ssad Gesmflam utiser erareurm LweTu@SHL-
uhdlemen ?

{a} Explain the role of SSI in economic development.
OR

(b) What are the ideas of information and communication technology used in

Economics ?

-o0o-



